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QUESTION 1

What cannot be learned from the output ofasg monitorcommand?
A. Appliances cluster status

B. Port status

C. Uptime

D. Security Policy status

Correct Answer: B

QUESTION 2

When running ifconfig command on an Appliance, there are interfaces shown in the list: ethl-Sync and eth2-Sync. What
is the purpose of these interfaces?

A. These interfaces are bond members (slaves) of Sync Bond

B. These interfaces can be used as backup for Sync interface

C. These interfaces are not in use. Security GW module use Sync interface for synchronization
D. These interfaces represent physical Sync interface at the front panel of appliance

Correct Answer: D

QUESTION 3

What does the lldpctl command do?

A. Show all devices discovered by LLDP protocol on downlink ports
B. Discover orchestrators

C. Show all devices discovered by LLDP protocol on uplink ports
D. Show all devices discovered by LLDP protocol on all ports

Correct Answer: D

QUESTION 4
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What is the throughput penalty of Security Group?

A. 5% per member

B. Depends on the type of Appliance

C. 10% per Security Group with no relation to amount of members
D. 1% per member

Correct Answer: D

QUESTION 5

There are two appliances within the same Security Group. One of them is connected by One downlink only, another one
by Two downlinks. Assuming there\\'s no NAT and no VPN, what would be proportion of traffic distribution done by
Orchestrator?

A. 66%/33%

B. 100%/0%

C. 50%/50%

D. 33%/66%

Correct Answer: C
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